ol W
i @ w'
LN Ny
a1 )

seeed

mBot Add-on Pack - Six-legged Robot

SKU 114090001

mBot six-legged robot is a 3-in-1 expansion pack based on mBot.

You can construct "Beetle", "Mantis" and "Crazy Frog" with mBot and the parts inside
the pack.

The mBot six-legged robot makes mBot more vivacious and enjoyable.

Description
What is mBot six-legged robot?

mBot six-legged robot is a 3-in-1 expansion pack based on mBot.

You can construct "Beetle”, "Mantis" and "Crazy Frog" with mBot and the parts inside the pack.

The mBot six-legged robot makes mBot more vivacious and enjoyable. Let's get your six-legged
robot move!



Shape one: Beetle
A six-legged beetle that moves quickly.

It turns around and attacks the enemy promptly!

Shape two: Mantis
It quietly crawls, waving two arms disposedly.
It is the hunter from the darkness,

approaching you, and catching you...

Shape three: Crazy Froq
A little crazy frog,

dashes around so madly that,

nobody can stop it.



Example:

Assembling Step of the Six-Legged Robot

o Plastic Spacer 4xTx10mm X2
Scrow MA® 22 xd

Hate
Bemove the front whee] and the bre
Tollewar vemior from maat beforshand, then
follaw the mitruction to st binking

e Boam(412-076-Blue ¥
Serew MA* 22 |

Plagtic Spacer 4*7*10mm x1
Lock Mut ha %]

e Serew Mat30 X1
Beamdld 17 =002 wl

Plate 45" 11
Soriw MA*3 x2

Mut hid w2

o Beamd12=060
Serew MAS22

Plastic Spacer £*7*10mm 1




;] %1 e BeamOd1 2076 ¥l
Lock Mut b4

%1

Soreyy A1 4 ¥l

Plastic Spacer 4°7"3mm %1

HNode:
The sedi-dr I.ng aorew hae is the

samn a5 the one in the oviganal mBot

Lock Mut M4 xl
Serew Ma*14 xl

Plastic Spacer4*7*3mm  «l

Use the sane metivod to buld the other part on mBot. Let's continue to baild the sie-degged roboti



mBot six-legged robot

Expansion pack

255g (8.9907)

Outer packing size

(lengthxwidthxheight)

100x60x150mm

Part List

6 x Screw M4 x 8mm

8 x Screw M4 x 14mm

8 x Screw M4 x 22mm

4 x Screw M4 x 30mm

4 x Screw M4 x 35mm

8 x NutM4

16 x Lock Nut M4

12 x Plastic Spacer 4 x 7 x 10mm

14 x Plastic Spacer 4 x 7 x 3mm

24 x Rivet

2 x Beam0412-108-Blue

2 x Beam0412-092-Blue

6 x Beam0412-076-Blue

2 x Beam0412-060-Blue

2 x Plate 45°-Blue

Copyright © 2008-2016 Seeed Development Limited All rights reserved




	Pages from Seeed_Template
	Document1a

